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 1. A

B C

D

 2. 1.724 10
-6

·cm 2 1

3.5 4.5 5.5 6.5

 3. 1 1/4 1/2

2 4

 4. 10 5

1.6 1019 1.873 1022 3.6 1022 6.25 1022

 5. 7460 10 10

10 74.6 100 149.2  

 6. 10 0.746 100

10 60 85 100  

 7. Q1 Q2 r Q1

r2 r2 Q1

Q2

 8. S1 a t = 0 S1 b
vc vc = 10e-5t

V vc = 10(1 e-5t
) V vc = 10e-0.2t

V

vc = 10e-10t
V

 9. i2 i2 = 0.5e10t mA i2 = 0.5e-10t mA i2 =

0.5e-5t mA i2 = 0.5e-0.2t mA

10.
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11.  10 2 0.5 106

0.4 106 0.2 106 0.1 106

12. 0.1 20 100

0.01 0.02 0.04 0.08 

13. Q 10 3.6 104 / Q
36 40 360 400  

14. a b Rab 3 6

9 12 

15. n 1/n2 1/n
n n2

16. 200 µ = 6 10-5 / - 3

A = 0.01 5

0.2 10-3 0.4 10-3 0.5 10-3 0.8 10-3

17. M12 = 2 M23 = 1 M13

= 2 Lab 23 18 15 11

18.

19.
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20. 100V 25W

100V 100W 200V

100V 1A

21. I 1 3 6 9

22. Y R 3 6

12 18 

23. I = 1A E 108 120

216 240

24. R1 R2 R1 150 R1 150W

R2 50W R2 50 150 330 450  

25. 4 10-9 5

1.44 2.88 7.2 14.4  
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26. IL Rx 12 8 6 3

27. IL I1 20 10 8 5

28. 60 Hz 80

60

0.8 0.8 0.6 0.6

29. ZL = 8 + j6 i(t) = 10sin( t)A
W 300 400 500 600  

30. Zin 10 j10 20 j10

10 j10 20 j10

31. R-L-C v(t) = 100 sin 337 t |I1| = 10A |I2|

= 8A |I3| = 6A QT VAR 0 400

800 1000  

32. | z | = 5 Hz 50 60 100

120
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33. C C

34. R = 5 L = 10 mH C = 1 µF

Q 5 10 20 30

35. R-L-C R = 40 XL = 30 XC = 60

0.5 0.707

1 2

36. Hz

50 100 150 200 

37. R-C C XC

I V I
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38. 0 100 250

500

39. vR 0 50 100 200  

40. C1 = 3 C2 = 6 C3 = 9

C1 C2 C3

4.5 8.25 9 11
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2513 98

-
40

01  10 11  20 21  30 31  40 

BCBBADBACA CBDADADBDC BADACDBBBC ACCCCACDCD 

1. B

2. C

3. B

4. B

X

( )

5. A

10

6. D
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7. B

=

8. A

10V 

RC RC

9. C

   

10. A

(B) 

(C) 

(D)

11. C

12. B

13. D

14. A

((4//4)+4)//6=6//6

15. D



宏
典
文
化

版
權
所
有

11

16. A

17. D

M

M

18. B

(A)

(B) 

(C) 

(D)

19. D

20. C

200V

21. B
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22. A

Delta-Wye

23. D

1. 2A 

2. 2A+1A=3A 

3.

24. A

25. C

26. D

27. B

 (4+2) // (6+ )= 6 // 9

28. B

V
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29. B

 ( )

30. C

31. A

V

phasor

Q

32. C

33. C

RLC RLC

//
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34. C

35. C

36. A

x

37. C

(A) C

(B) (A) //

(C) (B)

(D) V I

38. D

39. C

40. D

// + =3//6+9=2+9=11 (F)  


